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1.1 The Coordinate Plane

	1. Find the coordinates of the points shown in the figure.
​

​
	 
	a. 
	(4, – 3), (3, 3)

	 
	b. 
	(– 4, 3), (3, – 3)

	 
	c. 
	(4, 3), (3, 3)

	 
	d. 
	(4, – 3), (– 3, 3)

	 
	e. 
	(4, – 3), (3, – 3)



	ANSWER:  
	a






	2. Find the distance between the points (3, –4) and (9, 4).
​
	 
	a. 
	64

	 
	b. 
	6

	 
	c. 
	10

	 
	d. 
	10

	 
	e. 
	100



	ANSWER:  
	d






	3. For the points (5, 3) and (2, 5):
​
(a) Find the distance between them.
(b) Find the midpoint of the line segment that joins them.
​
	 
	a. 
	(a) The distance is .
(b) The midpoint is .

	 
	b. 
	(a) The distance is 13.
(b) The midpoint is .

	 
	c. 
	(a) The distance is .
(b) The midpoint is (7, 4).

	 
	d. 
	(a) The distance is 13.
(b) The midpoint is (7, 4).

	 
	e. 
	(a) The distance is 13.
(b) The midpoint is .



	ANSWER:  
	a






	4. Find the midpoint of the segment joining the points (5, –6) and (11, 2).
​
	 
	a. 
	(–2, –4)

	 
	b. 
	(–2, 8)

	 
	c. 
	(–4, –10)

	 
	d. 
	(8, –2)

	 
	e. 
	(–10, –2)



	ANSWER:  
	d






	5. Find the midpoint of the segment that joins the points (6, 0) and (0, 14).
​
	 
	a. 
	(3, 6)

	 
	b. 
	(3, 7)

	 
	c. 
	(3, 8)

	 
	d. 
	(7, 3)

	 
	e. 
	(6, 7)



	ANSWER:  
	b






	6. A pair of points is graphed.
​

​
Find the midpoint of the segment that joins them.
​
	 
	a. 
	(3, 0)

	 
	b. 
	(1, 3)

	 
	c. 
	(2, 3)

	 
	d. 
	(1, 2)

	 
	e. 
	(2, 2)



	ANSWER:  
	c






	7. Draw the square with vertices A(1, 1) , B(4, 1) , C(4, 4) , and D(1, 4) on a coordinate plane. Find the area of the square.
​
	 
	a. 
	
​
The area is 9.

	 
	b. 
	 
​The area is 3.

	 
	c. 
	
The area is 9.

	 
	d. 
	
The area is 3.

	 
	e. 
	
The area is 12.



	ANSWER:  
	c






	8. A rectangle has the vertices of A(2, 5), B(4, 5), C(2, 0), and D(4, 0) on a coordinate plane. Find the area of the rectangle.
​
	 
	a. 
	9

	 
	b. 
	14

	 
	c. 
	10

	 
	d. 
	11

	 
	e. 
	6



	ANSWER:  
	c






	9. The parallelogram has the vertices of A(2, 1), B(8, 1), C(9, 4), and D(3, 4) on a coordinate plane. Find the area of the parallelogram.
​
	 
	a. 
	17

	 
	b. 
	18

	 
	c. 
	20

	 
	d. 
	16

	 
	e. 
	19



	ANSWER:  
	b






	10. If the points P(6, 2), Q(0, 8), and R(–6, 2) are drawn on a coordinate plane, where must the point S be located so that the figure PQRS is a square?
​
	 
	a. 
	(0, –4)

	 
	b. 
	(–6, 0)

	 
	c. 
	(0, –3)

	 
	d. 
	(–4, 0)

	 
	e. 
	(0, –5)



	ANSWER:  
	a






	11. Determine which of the points (– 5, 0), (5, 20), and (– , ) are on the graph of the equation x2 + y2 = 25
​
	 
	a. 
	(5, 20), (– , )

	 
	b. 
	(– 5, 0), (– , )

	 
	c. 
	(– 5, 0), (5, 20), (– , )

	 
	d. 
	(– 5, 0), (5, 20)

	 
	e. 
	None



	ANSWER:  
	b






	12. Determine the sketch of the region given by the set {(x, y) | x ≤ 4}.
​
	 
	a. 
	
	b. 
	

	 
	c. 
	
	d. 
	

	 
	e. 
	
	
	



	ANSWER:  
	d






	13. Determine the sketch of the region given by the set {(x, y) | x ≥ 4 and y < 1}.
​
	 
	a. 
	
	b. 
	

	 
	c. 
	
	d. 
	

	 
	e. 
	
	
	



	ANSWER:  
	c






	14. Determine the sketch of the region given by the set {(x, y) | –1 < x < 1 and y ≥ 4}.
​
	 
	a. 
	
	b. 
	

	 
	c. 
	
	d. 
	

	 
	e. 
	
	
	



	ANSWER:  
	b






	15. Determine which point A(7, 8) or B(6, 9) is closer to the origin?
​
	 
	a. 
	Point A(7, 8) is closer to the origin.

	 
	b. 
	Point B(6, 9) is closer to the origin.



	ANSWER:  
	a






	16. Find the area of the triangle shown in the figure. Round to the closest positive whole number.
​

​
	 
	a. 
	12

	 
	b. 
	15

	 
	c. 
	17

	 
	d. 
	18

	 
	e. 
	13



	ANSWER:  
	b






	17. Find a point on the y-axis that is equidistant from the points (2, –9) and (7, 0).
​
	 
	a. 
	(0, 0)

	 
	b. 
	(0, 5)

	 
	c. 
	(–2, 0)

	 
	d. 
	(0, –4)

	 
	e. 
	(0, –2)



	ANSWER:  
	e






	18. Find the point that is one-fourth of the distance from the point P(–1, 5) to the point Q(3, 17) along the segment PQ.
​
	 
	a. 
	(0, –8)

	 
	b. 
	(2, 11)

	 
	c. 
	(0, 8)

	 
	d. 
	(8, 0)

	 
	e. 
	(0, 0)



	ANSWER:  
	c






	19. If the points P(–7, –7), Q(–6, –3), and R(2, 8) are plotted on a coordinate plane, where should the point S be located so that the figure PQRS is a parallelogram?
​
	 
	a. 
	(2, 4)

	 
	b. 
	(1, 2)

	 
	c. 
	(1, 4)

	 
	d. 
	(4, 0)

	 
	e. 
	(0, 5)



	ANSWER:  
	c






	20. If M(9, 7) is the midpoint of the line segment AB, and if A has coordinates (5, 5), find the coordinates of B.
​
	 
	a. 
	(–13, 9)

	 
	b. 
	(13, 9)

	 
	c. 
	(–5, –1)

	 
	d. 
	(–11, –8)

	 
	e. 
	(13, –9)



	ANSWER:  
	b






	21. The parallelogram has vertices of A (–5, –1), B (1, 1), C (4, 9), and D (–2, 7). Find the midpoints of the diagonals of this parallelogram.
​
	 
	a. 
	(0, 3.5) , (–0.5, 4)

	 
	b. 
	(0, 3.5) , (0, 3.5)

	 
	c. 
	(0, –0.5) , (0, –0.5)

	 
	d. 
	(1, 0) , (–1, 0)

	 
	e. 
	(–0.5, 4) , (–0.5, 4)



	ANSWER:  
	e






	22. A city has streets that run north and south, and avenues that run east and west, all equally spaced. Streets and avenues are numbered sequentially, as shown in the figure. The walking distance between points A and B is 7 blocks; that is, 4 blocks east and 3 blocks north. To find the straight-line distance d, we must use the Distance Formula.



	
	


Find the walking distance and the straight-line distance between the corner of 4th St. and 2nd Ave. and the corner of 19th St. and 38th Ave.
	 
	a. 
	The walking distance is 51 blocks and the straight-line distance is 40 blocks.

	 
	b. 
	The walking distance is 50 blocks and the straight-line distance is 39 blocks.

	 
	c. 
	The walking distance is 53 blocks and the straight-line distance is 41 blocks.

	 
	d. 
	The walking distance is 50 blocks and the straight-line distance is 40 blocks.

	 
	e. 
	The walking distance is 51 blocks and the straight-line distance is 39 blocks.



	ANSWER:  
	e






	23. Find the distance between (–2, 7) and (1, 11).
	ANSWER:  
	5






	24. A rectangle has vertices of A(5, 5), B(11, 5), C(5, 2), and D(11, 2) on a coordinate plane. Find the area of the rectangle.
	ANSWER:  
	18






	25. Find the area of the triangle shown in the figure.
​

	ANSWER:  
	24.5






	26. Find the midpoint of the segment joining the points (5, –9) and (7, –5).
	ANSWER:  
	(6, –7)






	27. Find the midpoint of the segment that joins the points (2, 0) and (0, 6).
	ANSWER:  
	(1, 3)






	28. The parallelogram has the vertices of A(4, 4), B(8, 4), C(10, 6), and D(6, 6) on a coordinate plane. Find the area of the parallelogram.
	ANSWER:  
	8






	29. Find a point on the y-axis that is equidistant from the points (4, –8) and (7, 3).
	ANSWER:  
	(0, –1)






	30. Find the point that is one-fourth of the distance from the point P(–2, 5) to the point Q(6, 13) along the segment PQ.
	ANSWER:  
	(0, 7)






	31. The points P(–8, –9), Q(4, –3), and R(11, 4) are on a coordinate plane. Where should the point S be located so that the figure PQRS is a parallelogram?
	ANSWER:  
	(–1, –2)






	32. If M (7, 7) is the midpoint of the line segment AB, and if A has coordinates (5, 3), find the coordinates of B.
	ANSWER:  
	(9, 11)






	33. The parallelogram has vertices of A (–1, –1), B (4, 1), C (9, 8), and D (4, 6). Find the midpoints of the diagonals of this parallelogram.
	ANSWER:  
	(4, 3.5); (4, 3.5)






	34. A pair of points is graphed.
​

​
Find the distance between them. __________
​
Find the midpoint of the segment that joins them. __________
	ANSWER:  
	10; (1, 0)






	35. Which of the points A(6, 7) or B(5, 8) is closer to the origin, Point A or B?
	ANSWER:  
	A
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